



RESOLUTION #2021-048

March 8, 2021

RESOLUTION AWARDING CONTRACT TO CCM CONTRACTING, INC FOR GROVE ROAD IMPROVEMENTS

WHEREAS, plans and specifications were prepared for the Grove Road Improvements project in the Township of South Orange Village and bids were received on March 2nd, 2021, and whereas 15 total bids were received, the lowest 3 bids are as follows:

	<u>FROM</u>	<u>BID AMOUNT</u>
1.	CCM Contracting, Inc., Green Brook, N.J	\$438,138.53
2.	J. A. Alexander Inc. Bloomfield, NJ	\$442,583.88
3.	Stanziale Construction LLC Bloomfield, NJ	\$448,495.00

And;

WHEREAS, the Village Engineer recommends that the award of the contract be made to the lowest bidder, CCM Contracting, 336 Route 22, Green Brook, NJ 08812 in the amount of \$438,138.53; and

WHEREAS, CCM Contracting is considered a responsible bidder;

NOW THEREFORE BE IT RESOLVED, by the Board of Trustees of the Township of South Orange Village that it does concur with the recommendation of the Village Engineer and does recommend that an award of contract in the amount of \$438,138.53 be made to CCM Contracting in accordance with the specifications upon which bids were received; and

BE IT FURTHER RESOLVED, that the Village President, Village Administrator and Village Clerk are hereby authorized to execute a contract and all necessary documentation for the award of said contract upon the availability of funds certified by the Village Treasurer and upon Village Council's review and approval of contract terms and conditions;



CERTIFICATION OF AVAILABLE FUNDS

As required by N.J.S.A. 40A:4-57, N.J.A.C. 5:34-5.1 et seq. and any other applicable requirement, I, Gregory Bock, Village Treasurer of the Township of South Orange Village, have ascertained that there are available sufficient uncommitted funds in the line item specified below to award the contract specified in the above resolution, in the amount specified below. I further certify that I will encumber these funds upon the passage of this resolution.

04-2150-20-1603-000 Streets - Roads NTE \$ 438,138.53
 Line Item Description Amount
 SSS 3/8/21
 Gregory Bock, Village Treasurer Date

Trustee Member	Motion	Second	Ayes	Nays	Abstain	Absent
Clarke			X			
Codlifer			X			
Hartshorn Hilton			X			
Jones			X			
Schnall		X	X			
Zuckerman	X		X			

CERTIFICATION

I, Ojetti E. Davis, Acting Village Clerk of the Township of South Orange Village, County of Essex, State of New Jersey, do hereby certify that this is a true and correct copy of the Resolution adopted by the Board of Trustees at their regular meeting held on Monday, March 8, 2021.

Ojetti E. Davis
 Ojetti E. Davis
 Acting Village Clerk

Grove Road Improvements

Bids taken - March 2, 2021 at 10:00 a.m.
Township of South Orange Village, County of Essex

ENGINEERS ESTIMATE	CCM Contracting, Inc	J A Alexander, Inc.	Stanziale Construction LLC	AJM Contractors, Inc.	American Asphalt&Milling LLC	Black Rock Enterprises, LLC	Midwest Construction Inc.
	336 Route 22	130-158 John F. Kennedy Dr.	PO Box 2595	300 Kuller Road	96 Midland Ave	1316 Englishtown Rd	19 Dead River Rd
	Green Brook, NJ 08812	Bloomfield, NJ 07003	Bloomfield, NJ 07003	Clifton, NJ 07011	Kearny, NJ 07032	Old Bridge, NJ 08857	Warren, NJ 07059
	(732) 968-1010	973-680-0220	(973) 676-4414	(973) 772-9292	(201) 991-9200	(732) 967-6400	(973) 412-8880

ITEM NO.	DESCRIPTION	UNIT MEASURE	ESTIMATE QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Soil Erosion & Sediment Control	LS	1	\$2,500.00	\$ 2,500.00	\$ 0.01	\$ 0.01	\$ 0.01	\$ 0.01	\$ 1.00	\$ 1.00	\$ 250.00	\$ 250.00	\$ 1,000.00	\$ 1,000.00	\$ 1,500.00	\$ 1,500.00	\$ 2,000.00	\$ 2,000.00
2	Breakaway Barricades	UN	4	\$2.00	\$ 8.00	\$ 0.01	\$ 0.04	\$ 0.01	\$ 0.04	\$ 1.00	\$ 4.00	\$ 10.00	\$ 40.00	\$ 0.01	\$ 0.04	\$ 0.01	\$ 0.04	\$ 0.01	\$ 0.04
3	Drums	UN	8	\$2.00	\$ 16.00	\$ 0.01	\$ 0.08	\$ 0.01	\$ 0.08	\$ 1.00	\$ 8.00	\$ 10.00	\$ 80.00	\$ 0.01	\$ 0.08	\$ 0.01	\$ 0.08	\$ 0.01	\$ 0.08
4	Traffic Cones	UN	200	\$2.00	\$ 400.00	\$ 0.01	\$ 2.00	\$ 0.01	\$ 2.00	\$ 1.00	\$ 200.00	\$ 5.00	\$ 1,000.00	\$ 0.01	\$ 2.00	\$ 0.01	\$ 2.00	\$ 0.01	\$ 2.00
5	Construction Signs	SF	40	\$2.00	\$ 80.00	\$ 0.01	\$ 0.40	\$ 0.01	\$ 0.40	\$ 1.00	\$ 40.00	\$ 11.00	\$ 440.00	\$ 0.01	\$ 0.40	\$ 0.01	\$ 0.40	\$ 0.01	\$ 0.40
6	Police Traffic Directors	MH	450	\$75.00	\$ 33,750.00	\$ 75.00	\$ 33,750.00	\$ 75.00	\$ 33,750.00	\$ 75.00	\$ 33,750.00	\$ 75.00	\$ 33,750.00	\$ 75.00	\$ 33,750.00	\$ 75.00	\$ 33,750.00	\$ 75.00	\$ 33,750.00
7	Traffic Control Directors	MH	450	\$62.78	\$ 28,251.00	\$ 62.78	\$ 28,251.00	\$ 62.78	\$ 28,251.00	\$ 62.78	\$ 28,251.00	\$ 62.78	\$ 28,251.00	\$ 62.78	\$ 28,251.00	\$ 62.78	\$ 28,251.00	\$ 62.78	\$ 28,251.00
8	Fuel Price Adjustment	LS	1	\$5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00
9	Asphalt Price Adjustment	LS	1	\$5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00
10	Clearing Site	LS	1	\$5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 25,000.00	\$ 25,000.00	\$ 4,000.00	\$ 4,000.00	\$ 15,000.00	\$ 15,000.00	\$ 4,000.00	\$ 4,000.00	\$ 12,479.68	\$ 12,479.68	\$ 6,200.00	\$ 6,200.00
11	Dense Graded Aggregate Base Course, 4" Thick	SY	500	\$8.00	\$ 4,000.00	\$ 6.50	\$ 3,250.00	\$ 0.01	\$ 5.00	\$ 0.10	\$ 50.00	\$ 4.00	\$ 2,000.00	\$ 0.01	\$ 5.00	\$ 6.00	\$ 3,000.00	\$ 5.00	\$ 2,500.00
12	HMA Milling, 3" or less	SY	9500	\$6.00	\$ 57,000.00	\$ 3.90	\$ 37,050.00	\$ 5.00	\$ 47,500.00	\$ 4.25	\$ 40,375.00	\$ 3.25	\$ 30,875.00	\$ 3.99	\$ 37,905.00	\$ 3.25	\$ 30,875.00	\$ 5.00	\$ 47,500.00
13	Superpave Hot Mix Asphalt Base Course, 19M64, 4" Thick	TN	200	\$90.00	\$ 18,000.00	\$ 73.00	\$ 14,600.00	\$ 10.00	\$ 2,000.00	\$ 82.00	\$ 16,400.00	\$ 72.00	\$ 14,400.00	\$ 70.00	\$ 14,000.00	\$ 85.00	\$ 17,000.00	\$ 85.00	\$ 17,000.00
14	Superpave Hot Mix Asphalt Surface Course, 9.5M64, 2" Thick	TN	1500	\$80.00	\$ 120,000.00	\$ 73.00	\$ 109,500.00	\$ 67.30	\$ 100,950.00	\$ 78.00	\$ 117,000.00	\$ 75.00	\$ 112,500.00	\$ 70.81	\$ 106,215.00	\$ 85.00	\$ 127,500.00	\$ 86.00	\$ 129,000.00
15	P.V.C. Roof Leader 3"-4"	LF	40	\$20.00	\$ 800.00	\$ 30.00	\$ 1,200.00	\$ 5.00	\$ 200.00	\$ 1.00	\$ 40.00	\$ 7.00	\$ 280.00	\$ 30.00	\$ 1,200.00	\$ 25.00	\$ 1,000.00	\$ 5.00	\$ 200.00
16	Reset Manhole Casting	UN	4	\$350.00	\$ 1,400.00	\$ 250.00	\$ 1,000.00	\$ 150.00	\$ 600.00	\$ 250.00	\$ 1,000.00	\$ 170.00	\$ 680.00	\$ 0.01	\$ 0.04	\$ 325.00	\$ 1,300.00	\$ 0.01	\$ 0.04
17	Curb Pieces	UN	13	\$2,500.00	\$ 32,500.00	\$ 300.00	\$ 3,900.00	\$ 300.00	\$ 3,900.00	\$ 225.00	\$ 2,925.00	\$ 350.00	\$ 4,550.00	\$ 275.00	\$ 3,575.00	\$ 350.00	\$ 4,550.00	\$ 375.00	\$ 4,875.00
18	Concrete Sidewalk, 4" Thick	SY	300	\$70.00	\$ 21,000.00	\$ 70.00	\$ 21,000.00	\$ 78.00	\$ 23,400.00	\$ 72.00	\$ 21,600.00	\$ 82.00	\$ 24,600.00	\$ 77.76	\$ 23,328.00	\$ 85.00	\$ 25,500.00	\$ 69.00	\$ 20,700.00
19	Concrete Driveway, Reinforced, 6" Thick	SY	200	\$85.00	\$ 17,000.00	\$ 80.00	\$ 16,000.00	\$ 80.00	\$ 16,000.00	\$ 81.00	\$ 16,200.00	\$ 85.00	\$ 17,000.00	\$ 86.40	\$ 17,280.00	\$ 85.00	\$ 17,000.00	\$ 78.00	\$ 15,600.00
20	Hot Mixed Asphalt Driveway (Variable Thickness)	SY	60	\$55.00	\$ 3,300.00	\$ 60.00	\$ 3,600.00	\$ 30.00	\$ 1,800.00	\$ 36.00	\$ 2,160.00	\$ 36.00	\$ 2,160.00	\$ 40.00	\$ 2,400.00	\$ 50.00	\$ 3,000.00	\$ 30.00	\$ 1,800.00
21	Detectable Warning Surface	SY	14.22	\$275.00	\$ 3,910.50	\$ 250.00	\$ 3,555.00	\$ 150.00	\$ 2,133.00	\$ 225.00	\$ 3,199.50	\$ 180.00	\$ 2,559.60	\$ 225.00	\$ 3,199.50	\$ 500.00	\$ 7,110.00	\$ 200.00	\$ 2,844.00
22	9"x18" Concrete Vertical Curb	LF	100	\$35.00	\$ 3,500.00	\$ 30.00	\$ 3,000.00	\$ 28.00	\$ 2,800.00	\$ 25.00	\$ 2,500.00	\$ 30.00	\$ 3,000.00	\$ 33.48	\$ 3,348.00	\$ 30.00	\$ 3,000.00	\$ 25.00	\$ 2,500.00
23	Granite Block Curb	LF	4100	\$35.00	\$ 143,500.00	\$ 27.00	\$ 110,700.00	\$ 28.00	\$ 114,800.00	\$ 25.00	\$ 102,500.00	\$ 30.00	\$ 123,000.00	\$ 33.48	\$ 137,268.00	\$ 30.00	\$ 123,000.00	\$ 28.00	\$ 106,800.00
24	Traffic Stripes, Long Life, Epoxy Resin, 4" Thick	LF	5200	\$0.86	\$ 4,472.00	\$ 0.60	\$ 3,120.00	\$ 0.60	\$ 3,120.00	\$ 0.75	\$ 3,900.00	\$ 0.65	\$ 3,380.00	\$ 0.77	\$ 4,004.00	\$ 0.77	\$ 4,004.00	\$ 0.65	\$ 3,380.00
25	Traffic Stripes, Long Life, Epoxy Resin, 6" Thick	LF	1800	\$1.29	\$ 2,322.00	\$ 1.00	\$ 1,800.00	\$ 0.70	\$ 1,260.00	\$ 0.95	\$ 1,710.00	\$ 0.75	\$ 1,350.00	\$ 0.99	\$ 1,782.00	\$ 0.99	\$ 1,782.00	\$ 0.75	\$ 1,350.00
26	Traffic Stripes, Long Life, Epoxy Resin, 12" Thick	LF	1200	\$2.58	\$ 3,096.00	\$ 2.25	\$ 2,700.00	\$ 2.00	\$ 2,400.00	\$ 1.85	\$ 2,220.00	\$ 2.25	\$ 2,700.00	\$ 1.98	\$ 2,376.00	\$ 1.98	\$ 2,376.00	\$ 2.25	\$ 2,700.00
27	Traffic Stripes, Long Life, Epoxy Resin, 24" Thick	LF	680	\$5.16	\$ 3,508.80	\$ 3.80	\$ 2,584.00	\$ 4.00	\$ 2,720.00	\$ 3.65	\$ 2,482.00	\$ 4.50	\$ 3,060.00	\$ 3.96	\$ 2,692.80	\$ 3.96	\$ 2,692.80	\$ 5.00	\$ 3,400.00
28	Traffic Markings, Thermoplastic	SF	96	\$6.00	\$ 576.00	\$ 6.00	\$ 576.00	\$ 7.00	\$ 672.00	\$ 6.50	\$ 624.00	\$ 8.00	\$ 768.00	\$ 6.60	\$ 633.60	\$ 6.60	\$ 633.60	\$ 8.00	\$ 768.00
29	Regulatory and Warning Sign	SF	24	\$6.00	\$ 144.00	\$ 50.00	\$ 1,200.00	\$ 80.00	\$ 1,920.00	\$ 38.00	\$ 912.00	\$ 49.00	\$ 1,176.00	\$ 40.00	\$ 960.00	\$ 39.60	\$ 950.40	\$ 50.00	\$ 1,200.00
30	Reset Water Valve Boxes	UN	35	\$25.00	\$ 875.00	\$ 10.00	\$ 350.00	\$ 0.01	\$ 0.35	\$ 0.10	\$ 3.50	\$ 30.00	\$ 1,050.00	\$ 0.01	\$ 0.35	\$ 20.00	\$ 700.00	\$ 0.01	\$ 0.35
31	Manhole Castings (Sanitary)	UN	12	\$350.00	\$ 4,200.00	\$ 600.00	\$ 7,200.00	\$ 550.00	\$ 6,600.00	\$ 600.00	\$ 7,200.00	\$ 750.00	\$ 9,000.00	\$ 800.00	\$ 9,600.00	\$ 900.00	\$ 10,800.00	\$ 600.00	\$ 7,200.00
32	Reset Gas Valve Boxes	UN	10	\$25.00	\$ 250.00	\$ 10.00	\$ 100.00	\$ 25.00	\$ 250.00	\$ 1.00	\$ 10.00	\$ 30.00	\$ 300.00	\$ 0.01	\$ 0.10	\$ 25.00	\$ 250.00	\$ 0.01	\$ 0.10
33	Small Deciduous Tree, Sweetgum	UN	6	\$350.00	\$ 2,100.00	\$ 800.00	\$ 4,800.00	\$ 500.00	\$ 3,000.00	\$ 400.00	\$ 2,400.00	\$ 550.00	\$ 3,300.00	\$ 500.00	\$ 3,000.00	\$ 350.00	\$ 2,100.00	\$ 425.00	\$ 2,550.00
34	Topsoling, 4" thick	SY	450	\$2.00	\$ 900.00	\$ 4.00	\$ 1,800.00	\$ 3.00	\$ 1,350.00	\$ 0.10	\$ 45.00	\$ 6.00	\$ 2,700.00	\$ 0.01	\$ 4.50	\$ 6.00	\$ 2,700.00	\$ 2.00	\$ 900.00
35	Fertilizing & Seeding	SY	450	\$2.00	\$ 900.00	\$ 4.00	\$ 1,800.00	\$ 2.00	\$ 900.00	\$ 0.10	\$ 45.00	\$ 2.00	\$ 900.00	\$ 0.01	\$ 4.50	\$ 1.00	\$ 450.00	\$ 2.00	\$ 900.00
36	Straw Mulching	SY	450	\$2.00	\$ 900.00	\$ 4.00	\$ 1,800.00	\$ 1.00	\$ 450.00	\$ 0.10	\$ 45.00	\$ 0.50	\$ 225.00	\$ 0.01	\$ 4.50	\$ 1.00	\$ 450.00	\$ 2.00	\$ 900.00
37	Reset Slate Walk	SY	2	\$50.00	\$ 100.00	\$ 80.00	\$ 160.00	\$ 100.00	\$ 200.00	\$ 25.00	\$ 50.00	\$ 100.00	\$ 200.00	\$ 300.00	\$ 600.00	\$ 100.00	\$ 200.00	\$ 80.00	\$ 160.00
38	Subgrade Geotextile Fabric	SY	9300	\$5.00	\$ 46,500.00	\$ 0.30	\$ 2,790.00	\$ 0.50	\$ 4,650.00	\$ 2.65	\$ 24,645.00	\$ 1.50	\$ 13,950.00	\$ 2.59	\$ 24,087.00	\$ 0.01	\$ 93.00	\$ 3.00	\$ 27,900.00
TOTAL					\$ 576,759.30		\$ 438,138.53		\$ 442,583.88		\$ 448,495.00		\$ 470,474.60		\$ 476,476.41		\$ 480,000.00		\$ 484,631.01

Completed Proposal with Signatures	Complete	Complete	Complete	Complete	Complete	Complete
Acknowledgement Receipt of Addenda	Complete	Complete	Complete	Complete	Complete	Complete
Bid Guarantee	Complete	Complete	Complete	Complete	Complete	Complete
Consent of surety	Complete	Complete	Complete	Complete	Complete	Complete
Statement of Ownership Disclosure	Complete	Complete	Complete	Complete	Complete	Complete
Hold Harmless/Indemnification Agreement	Complete	Complete	Complete	Complete	Complete	Complete
Non-Collusion Certification	Complete	Complete	Complete	Complete	Complete	Complete
Affirmative Action Questionnaire	Complete	Complete	Complete	Complete	Complete	Complete
Subcontractor's Certification	Complete	Complete	Complete	Complete	Complete	Complete
Bidder Qualification Form	Complete	Complete	Complete	Complete	Complete	Complete
Insurance Certificates	Complete	Complete	Complete	Complete	Complete	Complete
Public Works Contractor Registration Certificate	Complete	Complete	Complete	Complete	Complete	Complete
NJ Business Registration Certificate	Complete	Complete	Complete	Complete	Complete	Complete

